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5 Gamble

(15 points)
Time Limit: 1 second

Memory Limit: 256 MB

Statement

In a bustling casino, Alice and Bob, two brave gamblers, sit down for an exciting gamble. Facing the chips on
the gambling table, their hearts beat faster, anticipating the outcome of the next round. Alice's gaze is
sharp, her chips placed steadily on the table, while Bob looks serious, waiting with a hint of anxiety. The
outcome of this gamble will determine who can laugh last and who will leave with empty pockets.

Now, Alice and Bob each hold a certain amount of money. Alice has m dollars in hand, while Bob has n
dollars. They decide to put all these money on the line for an exciting showdown. However, this is not just a
gamble, but a contest of courage, intelligence, and luck.

The gamble begins. Alice and Bob take turns placing their money, each round nerve-wracking. It is known
that Alice's probability of winning each round is p%, and Bob's probability of winning is g%, where

q = 100 — p. In each bet, if Alice wins, Bob pays Alice one dollar; conversely, if Bob wins, Alice pays Bob one
dollar. This rule fills the entire casino with tension and excitement.

When one side loses all their money, the gamble ends. For example, if Alice wins all of Bob's money, Alice
gets m + n dollars, and Bob is left with 0 dollars, and the gamble ends.

Now, knowing the number of money Alice and Bob have respectively, what is the probability that Alice will
win all of Bob's money? It can be proven that the answer can be represented by the irreducible fraction %

and please output it in the format @ x b~! mod 998244353, where b~! is the modular inverse of b
modulo 998244353.

Input Format

The input consists of a single line containing three positive integers m, 1, and p, representing the bets of
Alice and Bob, and the probability of Alice winning, respectively.

Output Format

Output a number as described in the problem statement.

Constraints

e 1<m,n<3x10°.
e 0<p<100.

Test Cases

Input 1
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Output 1

199648871

Input 2

550

Output 2

Input 3

55 40

Output 3

747775770

lllustrations

In Example 1, it is obvious that the probability of Alice winning all of Bob's money is 40% (winning a game
means winning all, and Alice's probability of winning a game is 40%), which is % So, the result of
2 x 571 mod 998244353 is 199648871 modulo 998244353,

In Example 2, Alice's probability of winning each round is 0% = 0, so the probability of winning all of Bob's
money is also 0% = 0. The result modulo 998244353 is 0.
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